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Greate  “Null” pode . In
P.E. wiholow/ click “ Gear "
icon and choose Edit Porameter
Interface . Choose " Float ”
from [eft column and click
r*'\3H‘ orrow 3 times to oadd
3 new po\mvnders .
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Rename the hnode  Paramefers”

Civ) Add " Point Wromgle, “ node

ond  commect i+ to  “Add " hode.
We'll use the point in “Add" o
represent the state as follows.

I\'\“‘Y‘oduCQ hew o“H'Y‘;Lu'\'es Lj
adding the following code to
ot WV‘O\V\ﬂ\Q vode's

VEXpression editor window .

f@ thetn. = ch (".. / Parometers [ hetaD ")
fev = (" ../ Parameters / vO “),’
£@dt = <W("../Parameters/dt ")}

T @ theta_ prev = Qtheta -Q@Qdt «@v,
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To eusure {hat the povometers
ace  “chomnelled “ Open o
Geowetry spread sheet  (with the
" Point Wrangle  wade open) . Then,
click the "Pin" icon  jn the apper
right  to  pin the sPrmds'l:\ee‘l'.
Then, select the “Parometers " pode
ovd  adjust the yorameter
values  to  verify that fhe
values 1 the  Geo mﬁ’“’y
Spreadeheet get wpdated . Be
sure 1o unpih the Geometry
spreodsheet  before moving g4
4o e wnext step .

Create ™ Tuke " wnode.
Choose  Primitive Ty pe to
be ™ Po‘(, ov “ . Choose
Scale * 0.00C, Center = (9,-05,0).

/\o‘d h Sphe\(‘e “ node .
Choose * Palygonr " for
Primifive 73 e Y Choose
Frequency = o, Lwiform Scale = 0.95,
Center = C0,-(,0)
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This s whot we have

So For !
(Vi) CO"J(j fo Points (\/m) Create ”Copg to Points
(‘I‘VQUAS'FGY‘WI P&hd%'%"ﬂ) node . Connect Merge and

Point Wrangle +o +Hhis new
nade 1w order +to Copy
the pendwum geometry fo
wherever +he Poin+ 1s.

Ux) Point Wrgngle # (ix) Gwe the pendulum peomet
( rotote Pehdu[uw,) & proper orientation after
it's  troms€ormed 4o the
point . To do this, add
o " Pomt Wrang|e #"
wode  wn  between He
“C°\°‘3 to Pomts " and  Point
wrongle *  nodes. Add o
qvw\'(-e,rnioh te the
VEXpression s follows :
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(%) Solver (animate pendulym ) (x) Finally, we angmote
the.  pendulum  mpotion
'09 Chahging theta
ateording” Fo  some tme-
Ste Pihg upd&‘l‘(_. To see
p\K‘{!) ifmpleme_h'hxl'ioh/ go
to timestamp C[:48:50)]
n Lecture 4 r‘ecwd]ng.

To do "H"is'/ we
odd o " Solver
node.  n  befweeny the
+wo  point wr-oqule,

node S .
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Solver  contin ...
-~ Poin+t WY‘QV‘S‘Q

Dive iwto the Solver

oand connect Prev— frome
40 « T Point wmu.g(e "
node . Add your fime-
5+Q\op‘m9 scheme ' this

ngae .

You can lower dt iy the

“Parameters ” node to wmake the

ahimation slower. A value
of dt =o.[ [looks pretty
realistic. Note: the expof"('ed video
will run o bj+ Faster +han thot.

Thic is the final product:



